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SiMlejenraEst : (1)  mengg ellanrasErh sfwurs’ ferd o drergr Gre"crugmétrr sTUMTS SIS
 Qarérareyid. oiFsiLSeld GapulmliGer, sensd sarstasflliumerflL b

o | anguings Csfeilésab.

2) Beod v@gkz smUy ovlear wIHGED

TGS D& LD

3 6GsTgHeusHEL LwuaTuBSS Gmsm@m UL BIGET 6uedTeUSDHES

Quendled LweTUHSSELD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

G&BluY : Comeuwmar @LEHO LD euedhg FLETUTHSET eT(PSayLD.

Note : Draw diagrams and write equations wherever necessary.

LGSl - 1/ PART -1

GPILY : ()  Semensgl femsa@pdGn ofleLwelléseayb.

~ 15x1=15

(i) Oesr@éslulBerer Brem@ wrHM Helseiaer Wsab gHU®LW
aflerLemwis Caibls G816 GO BLen eflen_ufemeaniid GFigg eT(1pSALD.

Note : (i)  Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write

the option code and the corresponding answer.
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1. euilrGeudl 2 &flmen Caeneu temey 5 ppm -&@ @smma.irrasas Qararr@erer B mif
GPLAGus -

(<=1) 2Hmemedicd FOTHS < SEQE 2 cTeng)

(<2),) oflaaralidd wrHLL (ReTerg)

() e@nps COD

() GoPHS eTey SIS H&EFQar 2 dang)

Biochemical oxygen Demand value less than 5 ppm indicates a water sample to be :
(a) rich in dissolved oxygen

(b) highly polluted

(c) low COD

(d) poor in dissolved oxygen

2. 0.0IS.QIJ'ITLb erenLwierer Brsgafluded o erar Bi epasammaeation erawmanflsans :
(=1) 6.022 1020 (<=4,) 6.022x 1026
(@) 9.9x10%2 ‘ (FF) 6.022x1023
The number of water molecules in a drop of water weighing 0.018 g is

(@) 6.022x10%° (b) 6.022x1026
© 9.9x1022 (d) 6.022x1023

3. g sl GarwsHld 2 drer enplrgenan sar_hlu wrflge Gargeanar Hl&DSSLI-
uRflngl. @eiaflenanuie Ba BDD o (HeureuSHETT SITERTLD :
(1) Fe4[Fe(CN)6]2 (<2p) Fey[Fe(CN)gl,

(&) FeslFe(CN)l; (/) Fey[Fe(CN)gl,

Nitrogen detection in an organic compound is carried out by Lassaigne’s test. The blue
colour formed in this reaction is due to the formation of :

(@) Fe,[Fe(CN),], | ()  Fey[Fe(CN)l,
() Fey[Fe(CN)gl; (d) Fey[Fe(CN)g],
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IF; epevsamidleln &g auld

(=) sgir QrBIE (=) p&Camant @mATOGH
(@) eramapdl ' (FF) gem &5TD

The shape of IF; molecule is

(a) Square pyramidal (b) Trigonal bipyramidal

(¢} Octahedral = -~ (d) Square planar

CO, -6 Hlenawomm QeuliLiflenco
(1) 31.1°C (<23) 30.1°C (@) 21.1°C - () 35.5°C
The critical temperature of CO, is

(a) 31.1°C (b) 30.1°C (© 21.1°C (@ 355°C

erapenmuiled, 2 mélwu Camguib emanl FrEams(H ufﬂaﬂeurrrg) LGSES UL (B, Garqu,Lum
WAgQsHssLILGE DS ? :

(1) ClLemenr apenm | (=) sTevl_aT (P
(@) vl eurédh wenn (F) swenen(® (peom
In which process, fused sodium hydroxide is electrolysed for extraction of sodium ?

(a) Down process (b) Castner’s process

(¢} Ostwald’s process (d) Cyanide process

YenrauheuateupmieT etg Gl L sLpmLiLBss ?
(1) —NH, () -NO, (&) —OCH, (r) —OH
Among the following, which is meta directing group ?

(2 —NH, © -NO, (¢ —OCH, (d -OH

[ Hiys / Tumn over
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8.

10.

250,(g) + O,(g) = 2504(g) erenp &llenamuilen Ang &l :

(1) 2 ()1 @) -2 (") —1

The Ang value for the reaction
250,(g) + O,(g) = 2504(g)

(@ 2 () 1 © -2 @ -1

Qeneumd @mamm Hreu seomasaisn eargl, Aretol NlFHWldlmbe CriTEH .
Nwsssnss sr(HHng ? '

(<=t) HC1+ B

(=) éieﬂ LGt + @GemmGims oL miLd
(®) %r;j,g,anrr@ + Bir

(%) Bi+eoplMé e

Which one of the following binary liquid mixtures exhibits positive deviation from Raoults
law ? '

(a) HCl+Water
(b) Acetone + Chloroform
(c) Ethanol+ Water

(@) Water + Nitric acid

QR SlaTsaml e edrer Jfsulsorar sl yrasaflen erararilsamauiane

GHLIBug
(1) 41+2 (<) 2n? (@) n+l () 2141
The maximum number of electrons in a sub shell is given by the expression:

(@) 41+2 (b) 2n2 © n+l @ 20+1
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11. @@ sslbanartiSen Frren @Gl;r wrdflwirer WereflamTed 2 (Heureug) :

(<21) smiuer Gpr e

(@) safl ey

(<24,) eTev&L_gmen seu Qum(mer

(/) shdseur ClLmmer

Homolytic fission of covalent bond leads to the formation of :

(a) carbo cation

(¢) free radical

(b) electrophile
(d) nucleophile

12, C,F,Cly -ér @i :
(<21) ooluflwumesr - 111 (=) ooLuflwmel - 113
(@) ooliflurmerr - 112 (FF) oolaftwmes - 11
The name of C,F,Cl, is :
(a) Freon - 111 (b) Freon - 113
(c) Freon- 112 . (d) Freon-11
13. @ (Beir Q&mé)@anmuﬁld) Siar_gdlen erem Crmll wrhmid
(1) <0 (<) >0 (@) =o () =0
In a reversible process, the change in entropy of the universe is :
(@) <0 . ®) >0 © =0 @ =0
14. B eumy ereug) ¢
(<) CO+H, (c%). H,0(g) (8)) CO+N, (fF) CO +.I—I20
Water gas is :
(@) CO+H, ® HO(@) () CO+N, (d) CO+H,0
B [ Smwys / Turn over
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15.

ampml . sE@OgEsLLLGarer Smass salvhseErs afdlwid s
Swelwré@n <phnd wHufman QuUbmETeTg).

sryemin : s&T Ay dsliul Qe sy sSaflbmserdr afdiwb Fs
erevaslrmen Bl wHlGenarl CubmieTerg,.

(=) sapm sHwreng L aITe STTERTLD FEUDTETS!.

(<=1,) s wHmD sSMrewnd < Gram@ion sflwurearg, Guogid a.nusmmﬁso‘rgl
sapiibaren sflwurar eNeT&sD G0,

(@) abm| LOMD SATewTDd S QrerHb SeUDTEs). |
(/) Sapml LOMD Srrewn AW GramGo slurag eI SITERTOTETS

sapplpanes sflwnen cllerdswaa.
Assertion : Helium has the highest value of ionisation energy among all the elements known.
Reason : Helium has the highest value of electron affinity among all the elements known.
(a) Assertion is true and the Reason is false.

(b) Both Assertion and Reason are true and Reason is the correct explanation for the
Assertion.

(c} Both Assertion and the Reason are false.

(d) Both Assertion and Reason are true but the Reason is not the correct explanation for
the Assertion.

L@d - 11/ PART - II

&Y : stemauCuenid Sym arssErsE e weallEse|n. eilam erawr 24 -&&

sU_Lmuwrs aflenweflEseabn. 6x2=12
Note : Answer any six questions. Question No. 24 is compulsory.
16. GTO&ELITET &S6UT SO U TUIMISSELD.
Define electronegativity.
17. swren Hlevm — aUENTLMISSHELD.
Define equivalent mass.
18. sroflwub sriuCerlyer By Qe clleeralpare soauBHS UL
FLOGTLITL GHL 6T{PSIS.
Write the balanced equation for the action of heat on Calcium Carbonate.
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19. LroLeflar uEdH oi(wpss NlHesd smms.

State Dalton’s Law of Partial Pressure.

20. Westeumd GCambrisaildy 2 etar GarssaLlien oT(pSIs.

(1) BFy (<) CH, (8) PCly () SFq
Write the hybridisation present in the following compounds. '
(a) BF, (b) CH, () PClg (d) SFq

21. uFWS Glgc cHleneTe] TeNmE ETeTam ?
What is Greenhouse effect ?
22. Quenfemer ereueumm BHC <8 wrpmieumi ?

How will you convert Benzene to BHC ?

23. ugaflensd CorOBISET 6TeIMTE) GTeoTEd ?

What is Homologous series ?

24. 2 £.8. fMle 90 flgrb GEpsCarev sarbgearar searsdlar Guoremredigeaw
SaTEE . '

Calculate the molality of the solution containing 90 g of glucose dissolved in 2 kg of water.

LSl - 111 / PART - 11

GOy : aeneuCuend oM clamssersE el wellEseab. cdllerr eramr 33 -&@
s_L_muwons e wealssab. 6x3=18

Note : Answer any six questions. Question No. 33 is compulsory.

25. ML e — cuanuLmISSeLD. 3p, HMID 4d,2 2 ML LTeSled 2 GTeT TS ITENSES
n wOMD 1 HLULSHmTE FaDs.

Define orbital. What are the n and 1 values for 3p, and 4d,>_» electron ?

B | [ &l / Turn over
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26.

27.

28.

29,

30.

31.

32.

33.

eapLygeafler LWasmears SHs.
Give the uses of hydrogen.

Slwaflurésn o bhmealer eurssar Lamiamer eflaiflsseyb.

Describe the periodic trend of ionisation potential.

H,(g) +15(g) = 2HI(g) erem swHlene oHanend s K, wogw K. wHhlysemer

aumelldEa|Lb,

Derive Kp and K_ value for the equilibrium reaction H,(g) +1,(g) — 2HI(g).

enl (w) YenemTy eTemmmed eTesar ?

What is a pi (w) bond ?

Cansvedlen Qeuliud WIHT Fl L eNfemu uerUmEseD.

Define Hess's Law of constant heat summation.

FHH&seUT C(LF@ET O eres gren seulr Qurer — CaumuBEss.

Differentiate Nucleophile and Electrophile.

5,2 eflanan cuflapermeiL eflemd .

Explain S22 reaction mechanism.

CH2 =CH2 + BI'2

, A _DOSADTD KOH | o NaNHp | -

A, B wpmib C -enw sar_hls.

Find A, Band C.

CI‘IZ =CH2 + BI'2

> A

ale. KOH

NaNH, |

> B > C
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u@d# - IV/PART - IV

GO : Semensgl ellamss@rs@n e wefléseaib. 5x5=25

Note : Answer all the questions.

3. (=) () elleflsfle aslramTaLlu@Lb @ sfliog Gaiwid 40% srTueT, 6.6% eaml e
LHDD 53.4% éHgeoas Qarar@erarg. sGCsingdlen erafiu oildls
uUTDLILTL g e end: ST Hla.

(i) sHHWHAE GauraTLb T GHsE fn P Tpss.
- VeV
(<) Quitedwid wHMIL SGBleElwusHDarer @sss sarembaamer alleufibseab.

{a) (@ An organic compound preseﬁt in vinegar has 40% carbon, 6.6% hydrogen and
‘ 53.4% oxygen. Find the empirical formula of the compound.

(ii) Write short note on spin quantum number.
OR

(b) Discuss the similarities between Beryllium and Alunﬁnium.

35. (=) () @m;&@&@a&éo amL_eny(RSET eTeNDe) eTere ? T(RSFSSTL(HS SH(IHS.
(i) orpsmaT@ser LOHND Psyamarhseafar ClUTgeuTaT 6Ta&LFTe
SiemoLiNenard (.
SI6060G)
(al,) 152 hmediem élg)u@u_llei)qasmm elend@e.
(@) (i) What are Interstitial hydricies ? Give an example. _
| (i) Give the general electronic configuration of Lanthanides and Actinides.
OR

(b) List the characteristics of internal energy.

B [ $pliyg / Turn over
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36. (=) () Gremel elflenwis snms.
(i) eumelT L eumedey FaTUM g6 o &Tem &a Bjetelharer HEHSss5ms
ellend @, '
2|6060F}

(<) QUTERTL. @DTeol] FLOGTLITL igenal cl(hHellEEayLd.
(a) (i) State Raoult's Law.

(i) Explain the correction term for Volume in the Van der Waals equation.

| 'OR

(b) Deduce the Vant Hoff equation.

37. (1) Ny apo&sam 2 (Haurgena (paddm T crd (MO) Qardiens epad
Lt $FILeT efleundlssaib.
S6V60FI
(=)@ Qemeumn Gorwrsatler IUPAC QUIITSE®ETS S(HS.
O
(A) CH;~CH,~C-OH

(B) CH;—CH,-C—CH,~CH,
O
CH,
(©) CH3—CH2—CH2—1\I—CH3
(i) B -f&5 ellwaraw Tpgs.
(a) Discuss the formation of N, molecule using MO theorj with diagram.
OR
(b) (i) Give the JUPAC name for the following compounds.
O
(A) CH3—CH2—(|2[—OH

() CH3—CH,~C~CH,~CH, -
o]

CHj

: |
(C) CHy—CH,—CH,—-N-CH,
(i) Write p-elimination reaction.
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38. (=) () &pssaT_eupmer @mbs Quaneen ereueurm swmfiiumi ?
(A S8 gdSen
(B) Serred
(i) DDT ~ 60T ous&ra;eiT wrened ?
S|V
(<24) =9|Lﬂeo DL ETEIGITD 2 (heuTHmg ? g efleveaTaysear eNamda;s.

(@ () How will you prepare Benzene from the following ?

(A) Acetylene

(B) Phenol
(if) What are the uses of DDT ?
OR

(b) How is acid rain formed ? Explain its effects.

-00o0-
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